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)* +,-./012 3 .4.516 01.72/8 10 84 591 :,;;,< /-= 523-.:12 :>-75/,- ?

@ AB C D AB E FCG
AB H FIJC AB E KILC

M * N/-0 591 0/O121-71 1P>35/,- 21Q21.1-535/,- ,: 591 5/6 1R0,63/- S ;512 5935 /6Q;16 1-5. 59/.
.4.516 T

U * +3- 591 VW+ 81 01S-10 ., 5935 591 S;512 /. 8 ,59 73.>3; 3-0 .538;1X YZ1579 591 Q ,;1[\12,
Q;,5 3-0 591 VW+ T



� * � 0/.72151R5/6 1 S;512 /. 01.72/8 10 84 591 Q,;1[\12, Q;,5 8 1;,< T

x o

Im(z)

Re(z)
o

pole @ (-2/3,0)

zeros @ (0,0) and (1,0)

ROC:  |z| > 2/3

M * N/-0 591 \R523-.:,26 3-0 0/O121-71 1P>35/,- :,2 591 .4.516 T

U * +,6Q>51 591 :21P>1-74 21.Q ,-.1 ,: 591 .4.516 T YZ1579 591 6 3=-/5>01 :21P>1-74 21.Q,-.1
3-0 7,661-5 ,- 591 S ;512. :>-75/,- T



� * Y>QQ,.1 <1 321 01./=-/-= Q325 ,: 3 7,66>-/735/,-. .4.516 T �1 <,>;0 ;/Z1 5, 015175
591 Q21.1-71 A,2 38.1-71C ,: -322,<83-0 ./=-3; 35 ���� \ T �, 377,6Q;/.9 59/. >./-= 0/=/53;
5179-,;,=4� <1 6>.5 S2.5 .36Q;1 591 5,53; 2171/�10 ./=-3; 35 LZ� \ � 3-0 591- Q2,71.. 591 21R
71/�10 ./=-3; < /59 3 0/=/53; 83-0Q3.. S ;512 71-51210 35 ���� \ T �91 S ;512 216 ,�1. /-512:12/-=
./=-3;. 5935 6 34 81 Q21.1-5 35 ,5912 :21P>1-7/1. T �91 Q,<12 35 591 ,>5Q>5 ,: 591 83-0Q3.. S ;R
512 73- 81 7,6Q3210 5, 3 5921.9,;0 5, 017/01 <915912 ,2 -,5 591 -322,<83-0 ./=-3; /. Q21.1-5 T
� ./-= Q,;1[\12, Q;3716 1-5 � 01./=- 3 83-0Q3.. S ;512 :,2 59/. 3QQ;/735/,- T
M * YZ1579 591 Q,;1[\12, Q;,5 ,: 4,>2 01./=-
U * N/-0 591 523-.:12 :>-75/,- 3-0 0/O121-71 1P>35/,-
	 * 
 ;,5 591 6 3=-/5>01 ,: 591 :21P>1-74 21.Q,-.1 >./-= � 35;38
� * 
 23< 591 8;,7Z 0/3=236 :,2 591 
 /2175 N,26 �� S;512 /6Q;16 1-535/,-

A.11 WY� QQ T KL�RKL�C


